5924
+ 3578

3502

1.

2. Subtract 248 from 2396.

3. Multiply 57 by 8.

4. Divide 21060 by 9.
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R 'Tm%) from London Euston Station to Glasgow? 20, 6&
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12. Draw a reflection of the shape in the given line. m
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14. There are 200 pupils on a:
holds 34 pupils. How n

&2 5‘ 68 ':':_-I,‘_... Ve

“sssnene
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‘Af_;" ;vd

it
i

16. Ina 24 hour day, what are the two possible times of day m v W
the clock? oo

@ et 3
A 2T
¥
R

k4.



https://mymathscloud.com
https://mymathscloud.com

Continue each sequence by giving the next two terms.

SRILm AR A

1583 e =12

X1+ foch +ime
6r

\‘\\‘\~\h\~
v\‘\ ‘f\ ‘nx\(‘\\‘
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22. Belinda has a digital alarm clock.

DnEBH§E189
Belh:dasduinlclmkshownheﬁmem:lo
Shapmhmidodownonherbedﬁdehbh.

Theumeﬁmenuhown.

Alwhatnmcsbetweenm lOmduOOdoenhcc\ockMM
mmwhmﬁumidedownuwhmﬂmﬁwnﬂtw
et 2.5, 8 S0 Tl

P LS Sm\t TorWlaras ona bu(\(umrag\

LD s
o
AB < p 02.0.20,.05.50,.2.L24Q

K;_\O ABCD is a four digit number

OE & Tts first digit is % of its last digitf< 5 You o+ dm‘g ‘3'

& h- BOP e The seco g:twllessﬂxmx\sﬁrstdlgxt S MU pr=
@_‘]@ 7\ When you multiply ABCD by 4, its digits appear inteverse 4 QJLy
order Sony ’-{
o None of the digits are the same S of e
Sna ot

What is the number? & Whele
Notrne -

Idok o4

| ? 8 Flrs4 ' . Q.lz.&.
8)(1';

(’Gr'n’ 3

S |
7)<"' 3 mu sy Ny :I\ , (‘\QQ\(' .2\7‘8 X %
/*713-3’ :57‘1
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480mm120ansoffoodm3days
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nllmthe
" 7 12 catseat D | cans of food in 3 days

X2 48 cats eat 24 cans of food in = days

24 catseat 3 C cansoffood in 18days < ¢ (o £,
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-
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e

e
One route from L to W is LMOSW B ot

b)  Write down all the possible routes from L to W

LML, MO L3 LNRS W8

¢) How many possible routes are there from L to X?

LMOﬁ)g v
LMP5>< v

LMPT)(\/
tNgTxy, Q

LNPS)(\/

I X2
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" If she uses small plates she can put five
each plate with three left over. 55 4

~W_hﬁisﬂwmneumnnbeto£eukesﬂnm
| _Jmney'sparty? > <heaie O Conaition
®:,7,=) L Sctisfies @ -
@539+ 3 3

O ¢ 26 X

19 x & = 2V

Thesmallestnumbetofcakmmdelivcxedfahney’sm.

would she need? iz
rse T CARS O S

The 25 % S R
A%

¢) If she only used small plates for the cakes, how many small
plates would she need?
>

o o Sl
sS4 s N =
-7
5330

’5 > @ j.. ..... cessanen “

<

a) If she only used big plates for the cakes, how many big plates
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36. Ibouﬂnapwbtot‘fruitgmumdmzofthem,met!y.'-.l T
Music lesson. 1ox
Atb!nk.lsharedonemirdofmemnainingfmitgmswhhmy
ﬁ'iends.lthenﬁnishedtheﬁ\mgums,uﬁngmeqmlmmh
each of the next four lessons.
Whatisthesmallestnumbﬂofﬁ\ﬁtgumsthmwmdhmﬁh
; the packet? )
3 2) = +q
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Nee i %
dw?s,\;‘;‘“?:r ;ho\\ When Suedrogt 2 13
+ Y ANA thed Sy s ,»5\\'15‘;5!{‘“‘"
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cards. ﬁ!tdAulh

38. :
Yoim. 3 and Card C tells her to

~ herto

bys

Pia arranges her cards in the order A B C and
number 3. Her answeris9. 3x S = 15 -

2) upmwh«wamlémguAchm -

229 139
b) Whatwholem:mberwouldsheneedmmnwmnogam 2
answer of 19, dhacardswucsﬁ.llmngadmthemm

i3 38
AW

Jo-3TNE
AS 2= 2.2

c) If Pia arranges her cards in the order C B A and starts with

number 4, what is her answer?

t32:2
21 3=
5x5: 25 b .

d) Pia changes the order of the cards. She starts with a whole
number and ends up with 15. Give all the possible orders in
which she could have used her three cards.

D50 X2 -3 15

—5"1—5\/’ 252, = 3 X:”’~‘5“Sx
8, pEc g 5)‘2‘/"3:;‘5, FAx TN 25 gy

"\QB ST o R e i
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40. A set of 5 square based boxes are made
each box fits exactly inside each other,
dimensions of the largest box are 14 x 14

0)

Bk catin il

2% I2x\VZ

sessssssssenabinran

b) What are the dimensions of the smallest box?

Sxexs -

c) Howmanymb«musedtomakethethirdbox?
Yolee Hh - Volyme 373
= Jou o) () = 3!%)00)

T it T o ¢ S
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